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[N.B -  (1) Answer any five questions only. 
 (2) Candidates are allowed the option to answer the 

paper either in English or in Tamil or even to answer 
the paper partly in English and partly in Tamil. 

 (3) Answers to whole questions in excess of the 
prescribed number of questions appearing at the end 
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Marks 

1. a. Give any two factors that are to be taken into account while designing a HV 
substation. 

4 

b. List the charges to be included in an estimate for shifting of line, structure and 
equipment based on the request of the consumer.  

5 

c. What details are to be furnished in report accompanying an estimate.  5 
d. what action is to be taken if a tender is received by post after notified date and time  3 
e. While doing earthing which connection is to be done first? While removing an 

earthing which connection is to be removed first? 
 

3 

2.a. Define the term “wheeling”. 3 
b. State the different rate of excess demand charges in respect of low tension service. 

State the LT services for which this is not applicable.   
5 

c. State the methods adopted to detect earth leakage in DC distribution system in a 
substation.  

3 

d. An industrial service, having a connected load of 47.75 KW was inspected on 
11.03.14. It was found that no capacitor was installed. The consumption of the 
service is as below. Calculate the capacitor compensation to be levied.  

Month Assessed Units Assessed amount in Rs. 
08/2013 6920 33108 
10/2013 8480 40708 
12/2013 8870 43948 
02/2014 11830 60583 

 

5 

e. In a two part tender what documents are to be contained in: 
i.  Envelope A.         ii. Envelope B. 
 

4 

3.a. Describe the procedure to be adopted in handling of consumer complaints.  5 
b. Define the terms: 

i. Power Factor.      ii. Average Power factor 
3 

c. State the safety precaution to be observed before setting right the low sag in the 
feeder.  

3 



d. Give schedule of maintenance of lead acid batteries in a Substation.  6 
e. The metering in a HT service is on LT side of the transformer. The transformer 

capacity is 200 KVA. Calculate the average loss of the transformer, in units, to be 
added in the monthly bill of the HT service.  
 

3 

4.a. Draw diagram to show connections of earth megger to measure earth resistivity by 
four electrode method.  

5 

b. What do you mean by “unauthorized use of electricity” 4 
c. Under what condition an element/part of the grid shall be deliberately isolated 

from the rest of the State Grid or islanded. 
5 

d. State the periodicity for closing the imprest.  3 
e. What are the main objectives of Tender regulation Act.  

 
3 

5.a State the schedule of time prescribed for restoration of power supply to an 
individual consumer / group of consumers in case of interruption due to break 
down.  

5 

b. Name any four type of fire extinguishers used in a substation.  2 
c. Line clear has been issued in a feeder for works. What precautions will you 

observe before starting up the works? 
3 

d. State the functions of Tamil Nadu Electricity Regulatory Commission with 
relevance to Grid Code 

6 

e. The meter in an LT service was found defective during the assessment in 04/2014. 
The previous assessment details of the service are furnished below. Calculate the 
average units to be billed for 04/2014. 
Month 04/2013 06/2013 08/2013 10/2013 12/2013 02/2014 
Assessed 
Unit 

250 220 250 200 280 260 
 

4 

6.a. Write short notes on preparation of Budget.  4 
b. What is the need for circulation of oil in power transformer? When it is to be 

done? 
4 

c. Describe the procedure to be followed while opening a tender  4 
d. What are the duties of a transmission licensee?  4 
e. An LT industrial consumer charged with current consumption charge of Rs.5,000/- 

turns up to pay the bill 2 months after the due date. Calculate the belated payment 
surcharge to be levied.  
 

4 

7.a Abbreviate the following: 
i. ABT ii. HVDC iii. CEA 
iv. SLDC v. STU vi. CERC 

 

3 

b. What are the main objectives of Distribution system planning? 4 
c. State the test using air to be done for a rubber gloves. Why it is to be done? When 

it is to be done? 
3 

d. What details are to be mentioned in a notice inviting tender? 5 
e. The sanctioned demand of a HT service is 900 KVA. The demand reached in the 

assessment month of March’14 is 1050 KVA. The demand charges notified is 
Rs.300/- per KVA. Calculate the excess demand charges to be levied.  
 

5 

8.a Define quality of service.  3 
b. The six bimonthly current consumption charges of a LT commercial service are 

given below. The security deposit available for the service is Rs.18,978/-. 
Calculate the additional security deposit to be collected. 

6 



Month Assessed 
amount in Rs.  

05/2012 16,983 
07/2012 19,098 
09/2012 19,523 
11/2012 13,055 
01/2013 14,084 
03/2013 14,508 

 

c. Give names of any 3 methods of artificial respiration to be given for a person met 
with electrical shock.  

3 

d. What is Technical Sanction? 3 
e. Describe earthing practise adopted in HT and LT distributions lines.  5 
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1. a. ca® mG¤j Jiz ä‹ãiya¤ij totik¡F«nghJ fU¤Âš bfhŸs nt©oa 
Ïu©L fhuâfis vGJf. 4 

b. ä‹ghij, f£lik¥ò, rhjd« Ït‰iw Ef®nthç‹ nt©Ljè‹ ngçš kh‰¿ 
mik¡f kÂ¥ÕL brŒÍ«nghJ nr®¡f¥gl nt©oa f£lz§fis g£oaèLf.  5 

c. kÂ¥ÕL m¿¡ifæš ju¥gl nt©oa égu§fŸ ahit? 5 
d. mDkÂ¡f¥g£l ehŸ k‰W« neu« flªjÃ‹ jghš _y« bgw¥gL« x¥gªjòŸëæ‹ 

nkš vL¡f¥gl nt©oa elto¡if ahJ? 3 

e. xU ãy Ïiz¥ig brŒÍ«nghJ mf‰W«nghJ vªj Ïl¤Âš Ïiz¥ig Kjèš 
brŒa nt©L«? v§F Kjèš mf‰w nt©L«? 
 

3 

2.a. ”Åè§” v‹whš v‹d? 3 
b. jhœtG¤j ä‹ Ïiz¥òfëš mDkÂ¡f¥g£l ä‹gSÎ¡F nkyhd gS 

cgnahf¥gL¤jgLtJ f©l¿a¥g£lhš éÂ¡f¥gl nt©oa f£lz§fis 
g£oaèLf. mit vt‰¿‰F¥ bghUªjhJ? 

5 

c. xU Jiz ä‹ãiya¤Âš DC ä‹ R‰W¥ ghijæš V‰gl¡Toa ä‹fÁit m¿a 
filÃo¡f¥gL« Í¡Âfis TW. 3 

d. 47.75 KW mDkÂbg‰w xU jhœtG¤j bjhêš ä‹ Ïiz¥ig 11.03.2014 m‹W 
MŒÎ brŒjnghJ ä‹nj¡» Ïiz¡f¥glhjJ f©l¿a¥g£lJ. 
m«ä‹Ïiz¥Ã‹ ä‹ Ef®Î ÑnH ju¥g£LŸsJ. éÂ¡f¥glnt©oa 
<Lf£L¤bjhifia fz¡»Lf.  
 

5 



khj« ä‹ msÎ  ä‹ f£lz« 
(%ghæš) 

08/2013 6920 33108 
10/2013 8480 40708 
12/2013 8870 43948 
02/2014 11830 60583 

 

e. ÏU ciw x¥gªjòŸëæš A k‰W« B ciwfëš it¡f¥gl nt©oa Mtz§fŸ 
ahit? 
 

4 

3.a. Ef®ntçläUªJ bgw¥gL« òfh® kD¡fis ifahS« Kiwæid étç. 5 
b. Âw‹TW k‰W« ruhrç Âw‹TW v‹whš v‹d? 3 
c. ä‹ghijæš cŸs bjhŒit rçbrŒÍK‹ filÃo¡f nt©oa K‹bd¢rç¡if 

ahit? 3 

d. Jiz ä‹ãiya¤Âš MÁ£ ä‹fy‹fis guhkç¡F« m£ltizia vGJf. 6 
e. 200 KVA ä‹kh‰¿Íila xU ca®tG¤j ä‹ Ïiz¥Ãš ä‹ msthdJ 

jhœtG¤j¥ gFÂæš gÂÎ brŒa¥gL»wJ. ä‹kh‰¿æš V‰gL« ruhrç ä‹ 
ÏH¥ghf khjhªÂu ä‹f£lz¤Âš nr®¡f¥glnt©oa ä‹ msit fz¡»L. 
 

3 

4.a. “v®¤ bk¡f®“ JizÍl‹ 4 ä‹thŒ (electrode) Kiwæš ãy ä‹ jilikia 
(resistivity) mséL« Ïiz¥ò gl¤ij tiuf.  5 

b. mDkÂ¡f¥glhj ä‹ ga‹ghL v‹whš v‹d? 4 
c. ä‹f£lik¥Ã‹ xU Tiwnah mšyJ xU bjhFÂianah, ä‹f£lik¥ÃèUªJ 

vªj ãiyæš MŒé‹¿ jåik gL¤jyh«.  5 

d. ãiy K‹gz (imprest) fz¡if Ko¡f nt©oa fhy ã®za¤ij¡ TW. 3 
e. x¥gªjòŸë KiwgL¤J« r£l¤Â‹ K¡»a neh¡f§fŸ ahit?  

 3 

5.a Ef®nthU¡F V‰gL« ä‹jilia ãt®¤Â brŒa tiuaW¡f¥g£LŸs fhy 
msit¡ TW. 5 

b. Jizä‹ ãiya¤Âš ga‹gL¤j¥gL« Ô miz¥ò¡fUéfŸ eh‹»id TW. 2 
c. ä‹mG¤j« Ïšiy v‹W v©z¥g£l ä‹ghijia mQF« K‹ 

vL¤J¡bfhŸs nt©oa v¢rç¡iffŸ ahit?  3 

d. ä‹ f£lik¥ò F¿Kiw (Grid Code) jäœehL ä‹ f£L¥ghL Miza¤Â‰F 
éÂ¤JŸs eilKiwfŸ ahit? 6 

e. xU jhœtG¤j ä‹ Ïiz¥ig 04/2014-š MŒÎ brŒjnghJ ä‹ msé gGjhdJ 
f©l¿a¥g£lJ. m«ä‹ Ïiz¥Ã‹ flªj ä‹ ga‹ghLfŸ ÑnH ju¥g£LŸsd. 
04/2014-¡F m« ä‹ Ïiz¥Ã‰F éÂ¡f¥gl nt©oa ruhrç ä‹ msit 
fz¡»Lf.  
 

khj« 04/2013 06/2013 08/2013 10/2013 12/2013 02/2014 
ga‹ghL  250 220 250 200 280 260 

 

4 

6.a. tuÎ bryÎ Â£l« g‰¿ ÁW F¿¥ò tiuf.  4 
b. Âw‹ ä‹kh‰¿æ‹ v©bzia R¤Âfç¡fnt©oaj‹ mtÁa« v‹d? mij 

v¥bghGJ brŒa nt©L« 4 

c. x¥gªj òŸëfis Âw¡F«nghJ Ã‹g‰w nt©oa eilKiwia TW. 4 
d. ä‹fl¤Jjš cçkjhuç‹ flikfŸ ahit? 4 
e. %ahŒ 5000/- ä‹f£lz« éÂ¡f¥g£l xU bjhêš Ef®nth® ä‹f£lz« 

brY¤j nt©oa ehëèUªJ Ïu©L khj§fŸ fê¤J ä‹f£lz« brY¤j 
tªjhš mtU¡F éÂ¡f¥gl nt©oa jhkj¡ f£lz¤ij fz¡»Lf. 
 

4 



7.a Ñœf©lt‰iw éçth¡f«  brŒf. 
 

i. ABT ii. HVDC iii. CEA 
iv. SLDC v. STU vi. CERC 

 

3 

b. ä‹éãnahf mik¥Ãid Â£läLjè‹ K¡»a neh¡f« v‹d? 4 
c. u¥g® ifÍiwfS¡F brŒÍ« fh‰W gçnrhjid ahJ? mij vj‰F brŒa 

nt©L«? v¥nghJ brŒa nt©L«? 3 

d. X¥gªj òŸë nfhu¥gL« jh¡ÑÂš bfhL¡f¥gl nt©oa égu§fŸ ahit? 5 
e. xU ca® mG¤j ä‹ Ïiz¥Ãš mDkÂ¡f¥g£l ä‹gS 900 KVA MF«. kh®¢ 

2014š gÂth»a ä‹gS 1050 KVA MF«. TLjš ä‹gSé‰fhd 
mguhj¤bjhifia fz¡»Lf.  
 

5 

8.a jukhd ä‹ guhkç¥ò v‹whš v‹d? 3 
b. xU jhœtG¤j t®¤jf ä‹ Ïiz¥Ã‹ xU tUl¤Â‰fhd ä‹f£lz bjhif 

ÑnH bfhL¡f¥g£LŸsJ. mªj ä‹ Ïiz¥Ã‹ fz¡»š cŸs fh¥ò¤bjhif 
%.18,978/-tNè¡fnt©oa TLjš fh¥ò¤bjhifia fz¡»Lf. 
 

khj« fz¡ÑL 
brŒa¥g£l bjhif 

(%ghŒ) 
05/2012 16,983 
07/2012 19,098 
09/2012 19,523 
11/2012 13,055 
01/2013 14,084 
03/2013 14,508 

 

6 

c. ä‹ mÂ®¢Á V‰g£l egU¡F brŒa nt©oa bra‰if cæ®¥òKiw VnjD« 
_‹¿id bgaçLf.  3 

d. bjhêšE£g mDkÂ v‹whš v‹d? 3 
e. ca® k‰W« jhœtG¤j ä‹ghijfëš filÃo¡f nt©oa ãy Ïiz¥ò Kiwia 

étç. 5 
 


